Mod 6 Transformations Review

Matching | - Match each image with the transformation that has taken place. (G.CO4)
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(A) Reflectacrossy=-2x+1 (B) fixy)—(x+5,6y+6)
(C) Rotate 90° Clockwise around the (D) Axy)—(x+1,y+2)
point (0, 0)
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Perform the requested transformation. / transform ‘
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Rotate the line segment AB 90° Clearly draw the line of reflection
counter-clockwise around the on the graph above. Write the
point (1,1) equation of the line.
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on the graph above. Write the one shown above. Write the

:'.i‘ Clearly draw the line of reflection Graph a perpendicular line to the
equation of both lines.
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16.On the figure above, draw the lines of reflection (symmetry) that carry the figure
onto itself.

17. How many lines of reflection (symmetry) are there? (G.C0.3) E/

For questions 16-18 use the rectangle.

18. Draw and label the lines of symmetry and the
Diagonals on the rectangle S
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(Be specific, reflections are defined by lines,
rotations are defined by centers and degrees of rotation)
Cotate the fcc&mgle. 180 JEDUC__E{"‘t £ |
Because & rotationdl symmetcy, TD cincides with A
and  A'g’ comcide S orth T
S AB=CD ,
20. Using transformations, justify why diagonal BD and AC are congruent. (Be specific,
reflections are defined by lines, rotations are defined by centers and degrees of
rotation = | 2
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For questions 19-21 use the rhombus.

21. Draw and label the lines of symmetry and the diagonals on the
rhombus.
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